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PART—A

(1N write down  Rhe Lenain omcd ronge O‘fL SGC—)I.
Q2| Find £he valine ds Sin’ (3in3r/5) + 63 (s 37/5) .
QB 5 A= [T 32] o AddfA =12T Find K.
QW o A=[2"277] § o S;mme&nc madiise Jind =.
I_f‘il—l x-3
QB[ I A O a sGuane mtaix SE ovter 3x3 omd 1A= -5 find |-24]
Q) | Firt #he crder amd degree of /o@:,t\ (A N3t/ Sinx. .
Ax?/ V-] \d=x/
Qt") Fnd bhe Listance obi‘ke pane 2%-3y tYZ -L£=0 Ppom ovigin.
&E®)|| Find Ahe mﬂ& between #he vectovs & omd B Y & 8= 3
ond AxP = = 3J3. A
Q(CD Flal=3, |IBl= S aomd &xB=L(-)-3K find A-B=7
QQo Differentioke 2 with yespect ,Qo,feﬂx_
PART 'R
QW) ket * e £he binary operafion on N Hefiined by Axkb = HCFYr
aomd b. 9s k Commudafive 7 Js * associabive ? Lwes theve
exist idenkity Jor this binary operabion on N 7
v
il FEN=R be o funcHon defined ag fCx = Ux>rl2x+1S.
Show thal £:N—=5 where S b £he yamge dy f, v invertible
Fnd the inverse df f.
®(2)| Bhow thak Bin’(12/i2) + Gs'(W/s) + cot™ (1643) = 7v
Q| Prove fnok |ovme cidx bras] _ oo [& € P
la'x_ﬂg Cﬂi-—;_ol p::)—rq,‘ ’_EL d\} U”G’
Q) || Poove Bhal foo=[2x] ©» not i al x = ond ==2.
P o<=<3.
| o = [a | y= [a®TF , Showtnak My = -F OR

2y 2ty +9litxr =0 Yo —1<x<)] Prove thalbt &Y = —)

ch U+z)>

(e

% §= [Gom (e find dyfdx.

32 tuxts
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Q#)

Evalunte (Xﬁog('%")"‘ ' ZLdx or { (I+xeX gx
U GEP J (er

0

[l
Salide ) P8 4 or (% [ax .

= 2
(= ) 4 \Ja+x

1)

Evaluate KorEs

) Sin(x— es(x-y)

Qo)

35 o<:3L) . ﬂ ’LL-(‘\) 3K Mn ez'bv@g Flnmbmm

=pTh whre By omd B, L7 X

Q(2))

Findl the S.D. between the Unes £ 4 A, %v&y}»bgz

f}’._L—r'z,] uk + X (ZL—F%)-PGQ)

Y= 3”—3] -5K -l—["‘(‘-PL-PG)-HQK)

QR2)

915 mzanmwll Ve ce I a Aandom vaidable 2 associabed

with a prvb: dist- are g o 35/ Find P(x32).

2y

Avindom variable. X hos Lhe following probab ity dst.

X0 leibnses @ | 3 fillones | €€ |B S Emd (0K

Px) | o | k[ax]ar]3k k7 2k 73K () pix<3)

i P(x>6) (1v) P(0<X<3).

PART c’

03)

J

lMCJrheP)roducl‘Ji_ﬁ -2 0 ) )i B0 Solve the system
2 L H S 1—2 g

u @ ejnabions s 43z = w —X ARy FAT =l s PRI fE= 3,
o

K A=[0  —Pdp] ond T 6 tne identiry mabrixof

tm &/, o _L ordor 2. Shoy phals

I+A =(T-A)[Ces< —sink ]

Sind  Cos« |

Qhu

éhome SemiverHcad, amq@.qy o Sught crenlar Cone & Given

swface area amd max® Volume i Sin'( 14) o,





image3.png
cbseﬁguess




